‘ ‘ Answer Sheet No.

Sig. of Invigilator.

Time allowed: 25 Minutes

SECTION — A (Marks 20)

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itsell.
It should be completed in the first 25 minutes and handed over to the Centre Superintendent.

Deleting/!
Circle the correct option i.e. A/ B/ C [/ D. Each part carries one mark.
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Sociology is the study o

allowed.

not

A. Human mind B. Ancient society C. Economy D. Social institutions

Which of the following statements is INCORRECT?

A. Social action requires reaction

B. There must be a social situation for a social action

C. During social action the subject uses its physical or mental energy

D. The subject performs social action under certain norms and values

Ascribed status means

A Changeable status

B. Unchangeable status

C. Sometimes changeable and sometimes unchangeable status

D. None of these

Vertical mobility means change in

A Status B. Income C. Area D. Both Aand B

An individual gets identity from

A Political institution B. Religion

C. Family D. None of these

Selection of the Prime Minister is an example of competition.

A Absolute B. Relative C. Informal D. Both A and B

Science depends upon

A Personal experience B. Observation

C. Intuition D All of these

Social group is a result of

A. Basic needs B. Economic needs

C. Both Aand B B None of these

College is an institution of (eduation).

A, Formal B. Informal C. BothAand B D. None of these

Reproduction is a‘function of group-

A. Local B. Primary C. Formal D. Secondary

Which of the following elements does NOT represent culture?

A Natural environment B. Buildings

C. Language D. Norms and values

Values and Beliefs are a part of

A. Real culture B. Material culture

c. Both A and B D. Non-material culture

Getting a degree is an example of sanctions.

A Positive B. Negative 0% Formal D. BothAandC

Division of labour is complex in society.

A Rural B. Nomadic C. Modern D. Ancient ‘. -

The formal norms are implemented through

A. Family B. School C. Mosque D. Government

All man-made things are called

A. Values B. Beliefs C. Culture D. None of these

Black marketing is an example of

A Competition B. Informal cooperation

C. Antagonistic cooperation D. None of these .

In rural society, social stratification is based on

A Education B. Caste C. Sex . None of these

Religion is related to human

A. Logic B. * Emotions

C. Emotions and Logic D. None of these

What is the minimum number of people required for social interaction?

A 2 B. 3 C. 4 D. 6
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SOCIOLOGY HSSC-I

Time allowed: 2:35 Hours Total Marks Sections B and C:

NOTE:- Answer any fifteen parts from Section ‘B(a)’, one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.

SECTION — B (Marks 50)

Q.2 a Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 4 lines. (15 x 3 = 45)
(i) How has Tallcott Parsons defined Sociology?
(i) What are the elements of Society?
(iii) What role does a sociologist play in Agriculture?
(iv) \What is Parole and Probation rule?
(v) What is the difference between Sociology and Psychology?
(vi) Define Assimilation.

(vit) Define Primary Group.
(viii) What is Science?

(ix) What is the difference between the Ascribed and Achieved status?
(x) What is the importance of Society?

(i) Define the types of Values.

(xii) Write any three causes of Role Conflict.

(xiii) Write down any three characteristics of Islamic society.

(xiv) Name the sources of information technology.

(xv) Define Positive and Negative sanctions with the help of examples.
(xvi) Write down the importance of Mores.

(xvii) What is the difference between Formal and Informal education?
(xvii)  Give any three reasons of Social Mobility.

(xix) What is meant by relevance group?

(xx) Define the Nomadic and Sedentary society.

(i) Write any three functions of Political institution?

b. Attempt any ONE part. (1x5=5)
(i) Describes the types of Cooperation.
(ii) Write down the functions of Religious Institution.
SECTION — C (Marks 30
Note: Attempt any THREE questions. All questions carry equal marks. (3 x 10 =30)

Q.3 Write down the subject matter of Sociology.

Q4 Define Social Interaction and Social Action. Also explain the difference between Social Interaction and Social action.
Q.5  Explain cultural uniformed.
Q.6 Discuss the importance of Social group in the life of an individual.
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